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1. testcross — reciprocal cross
2, coepistasis — codominance
3. telomerase — reverse transcriptase
4. knockdown mutation — Zene silencing
5. GISH — XIST gene
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7~ ~ How does the pedigree-selection breeding procedure differ from the butk-population
breeding procedure(10%)

‘What are the advantages and disadvantages of early generation testing?(10%)
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What is mass selection? How can the breeder modify mass selection to improve upon its
effectiveness as a plant breeding method¥(10%)

H., ~ What is synthetic cultivar? How can a breeder predict the vield of synthetic cultivar?{10%)

—+ ~ Why are plant breeders interested in fertility regulating mechanism such as male sterility or
self incompatibility 7(10%)
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